< Tianli X3 @4l

Tianli Electrical Machinery (Ningbo) Co., Ltd

ISO9001 X
1ISO14001 c:‘@.,a

RERFGARBERHSE, RuUNEERFRAEBEEER, BRFTEHN

The technical data of the products in this catalogue are only for reference, Tianli reserves the rights for specification update or change.




: N
"; TIANLI ELECTRICAL MACHINERY [NINGBO) CO.LTD

Al &1 Company profile

KRB (T ) BRATE—RELHRFANTVESH, AXIEFNIRTFRAR T Z, EATH
KW/ BAHBER. [TRERS. B0k, TIEHXRBEHE.

AT B BT 1S09001:2015 REARIAER 1ISO14001:2015 FKIBARRIANTE, ATHRALARAES BN
B, AEANMEERFLES. FREBAEEE. SRR THEERIIIBERANEAN. BEEXKENERTNE,
EMNOBHhERTERINEANES, BB~ RBITT UL A VDEAE, &~RizfHEkE. TNEE, Xz
AFUER—REVARE, S—NRENARTARESSRN~ R, FEFINERR, HOI8%,

Tianli Electrical Machinery (Ningbo) Co., Ltd established in 1998 at Cixi City, which specialize in terminal
blocks developing and manufacturing. The products are suitable for Security system,Lighting,Automation
control,Home appliance and so on, which covered both of electronic and electrical application.

With geographical advantages as it is located at the central region of the Hangzhou Bay Rim economic
circle among Shanghai, Hangzhou and Ningbo. All these three cities can access just within one or two
hours drive.

The completed processed capability, this is the one of major strength from CAD design, tooling
making, injection molding, stamping and assembling all carried out in house.

Regarding the quality management, we granted 1SO9001:2015 and 1SO14001:2015, and have good
will and capable to improving the quality management system continually. All products are certificated
by UL, CSA, VDE, CE, CQC, and RoHS and so on. That is reason why our products have been adopted by
branded vendors over the world.

Furthermore, we also concerned the lead-time, in order to eliminate your inventory. We work with our
valuable customer with forecast in past years, if possible.

Our advantages are not just the best quality and lead time but the most competitive price. We have
stable supplier who doing long term cooperation and supplies high quality parts. Meanwhile, Tianli's
automation assembly system has been set up and passed the run-in, so that we can offer the competitive
price with the high price efficiency to our customers.

Index B

04-17 BARRIER SERIES #t==;

18-23 MODULAR TERMINAL BLOCKS Etrz{

24-33  RAIL-MOUNTED TERMINAL BLOCKS E#h=z{,

34-35 MODULAR DUAL ROW XN EMiRT

36-37 RAIL-MOUNTED DUAL ROW X ESEZ

38-39  ACCESSORIES FOR MODULAR AND RAIL-MOUNTED SERIES #ief4




iN{ai%8 (HOW TO ORDER):

BImbogoc/w-0o-gop-00

T

4 www.china-tianli.com %

4244 Screw: S=Slot screw, C=Cross screw

i Color: K=Black

A P %1 Poles

##%& Pin Type

HWEEFL, RS ARHEZEFL W: Mount Ends; Blank: Barrier Ends
% F, NS AJET With cover, Blank: without cover

X 45 Part Number

%752 Type Number

BARRIER SERIES

B762-01-0773

L=A+9.18

B762-02-0773

1509001
15014001

B762-03-0773

NEH @

L=A+9.18 L=A+9.18 370
A=(P-1)x7.62 A=(P—1)x7.62 | A=762x(P-1) ‘
gﬂ J‘ J/‘ Z /. ‘} 2 -
1 o ~|
i E I L ]
2 I TEEEE o
100 |z 2s0] [uod] {262 -
1.00 | 7-82| g \\
o
o % Jw/@@ E§L .. § = 162 p160-180 1/
Ay 9 oo o S o -
Lasdz.02 PCB LAYOUT 159762 PCB LAYOUT 459 A\
A B4R (Technical data) A YR (Technical data) # A ¥R (Technical data)
jB)BE (Pitch): 7.62mm [8]EE (Pitch): 7.62mm [8]E (Pitch): 7.62mm
IAIE (Approval): Al & IAIE (Approval): Al @ NI (Approval): AV &
B £ (Rated voltage): 300V 450V 8 [£ (Rated voltage): 300V 450V 8 £ (Rated voltage): 300V 450V
837 (Rated current): 15A #13% (Rated current): 15A B13% (Rated current): 15A
#12 (Applicable wire): 22-14AWG  1.5mm’ #12 (Applicable wire): 22-14AWG  1.5mm’ #12 (Applicable wire): 22-14AWG  1.5mm’
PCB Ef2 (PCB hole Dia): ®1.6-1.8mm PCB &{Z (PCB hole Dia):  ®1.6-1.8mm PCB Ef2 (PCB hole Dia): ~ ®1.6-1.8mm
1242 (Screw): M3 1244 (Screw): M3 4244 (Screw): M3
#5 (Part Number) #15 (Part Number) #15 (Part Number)
& (Poles) S (Part Number) %% (Poles) A5 (Part Number) tREx (Poles) #S (Part Number)
02 B762-01-0773-02P 02 B762-02-0773-02P 02 B762-03-0773-02P
34 B762-01-0773-34P 34 B762-02-0773-34P 34 B762-03-0773-34P
B762-03-1498 B762(C|-01 B762(C|-02

14.70

0.80

459 A=162x(P-1)
|

17.10

14.00
12.00

17.10

SN 607 o 607 Ko
| A _ ‘ =
(399) l 810 162 1!410 080 4 Mw ! 1&'0 080 JI™
L:A0.18 L=A+917 &J g L=A+917 §‘
— R
459 rmz Tg; s R ,7+ & _ 216 5
= 7lAE =k meo; i = ‘F’T P9
= E\#Ea—«ﬁs—e‘afeﬂ\c =] |62 | I = 1.62 \
300 L g 459 A ‘ 459 A |
= L L
A IR (Technical data) HAREIR (Technical data) # A IR (Technical data)
/88 (Pitch): 7.62mm [8]EE (Pitch): 7.62mm [B1FE (Pitch): 7.62mm
IAIE (Approval): s AN (Approval): AL NI (Approval): AV
B JE (Rated voltage): 300V B % (Rated voltage): 300V B JE (Rated voltage): 300V
B3% (Rated current): 15A #33% (Rated current): 15A #3% (Rated current): 15A
%1% (Applicable wire): 22-14AWG %1% (Applicable wire): 22-14AWG %1% (Applicable wire): 22-14AWG
PCB E1& (PCB hole Dia): [J 1.3x3.0mm PCB E1& (PCB hole Dia): ®1.6mm PCB E1& (PCB hole Dia): ®1.6mm
1244 (Screw): M3 4244 (Screw): M3 1244 (Screw): M3
#1S (Part Number) S (Part Number) #1S (Part Number)
1R%% (Poles) S (Part Number) %% (Poles) S (Part Number) 1R%% (Poles) #S (Part Number)
02 B762-03-1498-02P 02 B762|C|-01-02P 02 B762|C| -02-02P
34 B762-03-1498-34P 32 B762[C] -01-32P 32 B762[Cl -02-32P

& www.china-tianli.com



#pr==t BARRIER SERIES orion @ M A CE A @ ==, BARRIER SERIES orion @ M A CE & @

B762(C|-03 B762|C|-04 B762|C/W-01 B825-01 B825-02 B825-03

14.00 L=A+9.81 L=A+9.81 13.70 1370
L 531 A=762x(P-1) _ 7.62 12.00 A—(P—1)x8.25 A=(P—1)x8.25 T
1 ‘ i ; | o i
550 o = ‘ =
9350 Ll & [, &
#3.50 = 1 0.80
143 WW'\M ! 100 080 U 0.50 25 201
L=A+2286 0 s Al 120 828 . ——l- 080 I
—3F o [/
8l sl 1T, 7 ] z e VAN =
~~{P7ez 162 M’? 1 N350 : E«i o o > o L2 %
] 4 = i I Y/ D S )
L Jlhols.2s PCB LAYOUT _ ko825 PCB LAYOUT k9 A |
A B4R (Technical data) # A ¥R (Technical data) A YR (Technical data) A B4R (Technical data) AR (Technical data) A ¥R (Technical data)
j8)BE (Pitch): 7.62mm &3 (Pitch): 7.62mm j8)BE (Pitch): 7.62mm 886 (Pitch): 8.25mm 886 (Pitch): 8.25mm j8BE (Pitch): 8.25mm
IAIE (Approval): A AIE (Approval): A IAIE (Approval): A IAIE (Approval): Al @& IAIE (Approval): A @& IAIE (Approval): A @&
B % (Rated voltage): 300V B [E (Rated voltage): 300V B[ (Rated voltage): 300V B [E (Rated voltage): 300V 450V B /% (Rated voltage): 300V 450V B [E (Rated voltage): 300V 450V
83% (Rated current): 15A B83% (Rated current): 15A 3% (Rated current): 15A 837 (Rated current): 20A % (Rated current): 20A #83% (Rated current): 20A
%412 (Applicable wire): 22-14AWG %1% (Applicable wire): 22-14AWG %1% (Applicable wire): 22-14AWG %% (Applicable wire): 22-12AWG  1.5mm® %12 (Applicable wire): 22-12AWG  1.5mm’ %1% (Applicable wire): 22-12AWG  1.5mm*
PCB 12 (PCB hole Dia): ~ ®1.8mm PCB 12 (PCB hole Dia): [ 1.2x3.6mm PCB 1% (PCB hole Dia): ~ ®1.6mm PCB Hi{Z (PCB hole Dia): ~ ®1.8-2.0mm PCB E{Z (PCB hole Dia):  ®1.8-2.0mm PCB 12 (PCB hole Dia):  ®1.8-2.0mm
1244 (Screw): M3 4242 (Screw): M3 1242 (Screw): M3 1242 (Screw): M3 4244 (Screw): M3 1244 (Screw): M3
#15 (Part Number) #%5 (Part Number) #5 (Part Number) #5 (Part Number) # (Part Number) #}5 (Part Number)
1R (Poles) #S (Part Number) 1R#x (Poles) 5 (Part Number) 1R%x (Poles) 5 (Part Number) & (Poles) 5 (Part Number) REL (Poles) IS (Part Number) 1R% (Poles) #1S (Part Number)
02 B762[C] -03-02P 02 B762[C] -04-02P 02 B762[CIW-01-02P 02 B825-01-02P 02 B825-02-02P 02 B825-03-02P
32 B762[C] -03-32P 32 B762[C] -04-32P 30 B762[CIW-01-30P 14 B825-01-14P 14 B825-02-14P 14 B825-03-14P
B762|C/W-02 B762 |C/W-03 B762 |C/W-04 B825-03-1302 B301 B950(C|-01
531 A=762xIP-1)_ 762 a0l _ 14.00 14.00 A-8.25¢P-1 Vel 11L0
- 1200 __531_A=762dP-1l _ 162 70 7.0 9350 =8 25x(P-
‘ 2180 SIS i\y
‘ e - 3 i e W SR ES=S==
607 |38 ma AR w| = = ' 6550 < @l = R 65.50 o & mfl 3*4(? '
| B et 350 - H = q 490 825 L ===
ma i ! ! HF83.50 ‘ 2350 =
143 WWI\H ' H 100 080 { [ i 080 | S 18.50 J .
- 143_[762] [h2o| ] 250 L =) PCB T=1.6mm Max [N T R ‘ 570|950
1=A+2286 S L=A+22.86 L0 g T _ 31825 | 0.80x1.52 1o950Xp-1)
pe N 1=8.25%P+2.00
767,187, 9160 " S — L=A:2286 5‘ g 570,950
g {)wﬂgw 162, o180 1/ RIS 2 ey 6 o/ e é
< ] i i . S i = = r‘r 1
Lo | N#350 §i,,4;,¢,é4 1 g b = -b-= ,EL\& | 2 {yafz;yf@r‘w ,‘ o g‘h
1m43_| A =t 3 A | [ R A | IN2350 350 - s
L L 143 _| A = 513 A=8.25x(P-1)
AR (Technical data) # A IR (Technical data) AR (Technical data) AR (Technical data) A IR (Technical data) AR (Technical data)
[8)EE (Pitch): 7.62mm [B]FE (Pitch): 7.62mm [a)#E (Pitch): 7.62mm [8]EE (Pitch): 8.25mm [81E (Pitch): 8.25mm [8)EE (Pitch): 9.50mm
TN (Approval): Al IAIE (Approval): o\ IAIE (Approval): A IAIE (Approval): Al IAIE (Approval): L\ IAIE (Approval): A @0
B % (Rated voltage): 300V B JE (Rated voltage): 300V B[ (Rated voltage): 300V B % (Rated voltage): 300V B JE (Rated voltage): 300V B [% (Rated voltage): 300V 450V
337 (Rated current): 15A B3% (Rated current): 15A 337 (Rated current): 15A #13% (Rated current): 20A B3% (Rated current): 20A 337 (Rated current): 25A
412 (Applicable wire): 22-14AWG %1% (Applicable wire): 22-14AWG %1% (Applicable wire): 22-14AWG 412 (Applicable wire): 22-12AWG %1% (Applicable wire): 22-12AWG 412 (Applicable wire): 22-10AWG  2.5mm°
PCB ##% (PCB hole Dia):  ®1.6mm PCB % (PCB hole Dia):  ®1.8mm PCB E#% (PCB hole Dia): [ 1.2x3.6mm PCB ##% (PCB hole Dia):  ®1.8 PCB # % (PCB hole Dia):  ®1.9-2.0mm PCB E#% (PCB hole Dia):  ®2.2mm
4244 (Screw): M3 4242 (Screw): M3 1244 (Screw): M3 4244 (Screw): M3 4242 (Screw): M3 1244 (Screw): M3.5
#5 (Part Number) S (Part Number) #5 (Part Number) #5 (Part Number) S (Part Number) #5 (Part Number)
tR%¢ (Poles) #S (Part Number) 1R%% (Poles) #S (Part Number) tR% (Poles) S (Part Number) %% (Poles) #IS (Part Number) 1R%% (Poles) S (Part Number) tR# (Poles) #S (Part Number)
02 B762 [C]W-02-02P 02 B762[C]W-03-02P 02 B762[CI|W-04-02P 03 B825-03-1302-03P-XC 02 B301-02P-XC 02 B950[C|-01-02P
30 B762 [C] W-02-30P 30 B762[C]W-03-30P 30 B762 [ClW-04-30P 24 B301-24P-XC 24 B950(C] -01-24P

6 www.china-tianli.com %

& www.china-tianli.com



HR:E BARRIER SERIES 5o, @ A A CEA @ & ##==t BARRIER SERIES ot A A CE & @

B950(C|-02 B950(C|-03 B950(C| -03-0698 B950(C/W-03 B950[C/W-04 B100-01

V=U1140
\t

fﬁ EE‘E‘EE
e B
It \
30 Tl

L=A+11.9
A=(P-1)x10

V=U+1140

== ESE
|
&= s

U H U
570|950 | 160

A
L=A+30.40 15.20 [350

4 e
7
021-022

(25.70)
23‘10
(25.50)

1160

;e i}
He

L

U=950X[P-1) w95t ‘ o - | legel_ ﬂ &= mu:::lh
510,950 o 6 ovd o s r n] o |=S|=s|=y s F j = LL J
< /‘;\f _ S | _ o =1 e ) oS T 0081350 ! 200 g o 1
& o113 i 5 = TUT e Uy R - 2 & v
) . n © 950 500 | |50 |25t so0 | | w0 | _ P\ Z © o o
\ A=8504p-1 s ABS0P-1 3 A1) 5951000 0B TAYOUT
A B4R (Technical data) # A ¥R (Technical data) A YR (Technical data) # A YR (Technical data) A YR (Technical data) # A ¥R (Technical data)
j8]BE (Pitch): 9.50mm j8)#8 (Pitch): 9.50mm {a1BE (Pitch): 9.50mm {8 8B (Pitch): 9.50mm j8]BE (Pitch): 9.50mm j8)#E (Pitch): 10.00mm
A (Approval): oA & TAE (Approval): Al & IAIE (Approval): Al IAIE (Approval): A iAIE (Approval): A iNIE (Approval): A @
81 [£ (Rated voltage): 300V 450V 8 /£ (Rated voltage): 300V 450V /% (Rated voltage): 300V 8 £ (Rated voltage): 300V 8% (Rated voltage): 300V 8 /£ (Rated voltage): 300V 450V
#13% (Rated current): 25A B13% (Rated current): 25A 837 (Rated current): 25A 837 (Rated current): 25A #13% (Rated current): 25A B83% (Rated current): 25A
%12 (Applicable wire): 22-10AWG  2.5mm? %412 (Applicable wire): 22-10AWG  2.5mm’ %412 (Applicable wire): 22-10AWG %412 (Applicable wire): 22-10AWG %12 (Applicable wire): 22-10AWG %412 (Applicable wire): 22-12AWG  2.5mm®
PCB 12 (PCB hole Dia): ®2.2mm PCB 1% (PCB hole Dia): ®2.2mm PCB &2 (PCB hole Dia): ®2.1-2.2mm PCB EfZ (PCB hole Dia): ®2.1-2.2mm PCB &{Z (PCB hole Dia): [ 1.2x4.2mm PCB EfZ (PCB hole Dia): ~ ®2.0mm
244 (Screw): M3.5 4244 (Screw): M3.5 1244 (Screw): M3.5 4244 (Screw): M3.5 #244 (Screw): M3.5 4244 (Screw): M3.5
#S (Part Number) #1S (Part Number) #1S (Part Number) #1S (Part Number) #S (Part Number) #15 (Part Number)
&% (Poles) A5 (Part Number) 1R#x (Poles) #E (Part Number) #R# (Poles) #S (Part Number) #R#x (Poles) A5 (Part Number) %% (Poles) #S (Part Number) 1R#x (Poles) #S (Part Number)
02 B950[C] -02-02P 02 B950[C] -03-02P 02 B950 [C] -03-0698-02P 02 B950 [C] W-03-02P 02 B950 [CIW-04-02P 02 B100-01-02P
24 B950 [C] -02-24P 24 B950 [C] -03-24P 24 B950[C] -03-0698-24P 20 B950 [C] W-03-20P 20 B950[C] W-04-20P 12 B100-01-12P
B950(C|-04 B950 |C/W-01 B950 |C/W-02 B100-02 B100-03 B100-03-1538

e Bk _L [ S _L

O

A=10.00X[P-1)
L=A+11.9 0.00
L=A+3040 ) L=A+3040 o L=A+3040 ) L=A+30.40 A—P_1x10 _ ” E =
1520 950, 9360 |~ 1520 950v‘ M\ N Al J
& it =| <|
,é,* TN s S = | \g 3
A z TR H f
sl a | \e2t22 950 A | \e21-22 B
300 500 L
15.20 116.86) 15.20 {16.85) Lls o119 g
\ ‘ 0 \ ‘ . 5351
u’ - - = 3\’ - A I'—’! p2.20
o sl s = ﬂfjf’f i S| s = o o end o
\ = | ] [ =1 | s B ‘
- 550 016008 ‘ ﬂj _ 50| 016008 | s i e (“vT y o 3 .
T | A9SOP-1 | 1650 | 2 A=950+(P-1] ‘ 2 i " AID00:P-1
A=9.50x(P-1) 5.95 0.0 PCB LAYOUT “
AR (Technical data) # AR (Technical data) AR (Technical data) A IR (Technical data) HAREIR (Technical data) # A IR (Technical data)
{888 (Pitch): 9.50mm j8)#8 (Pitch): 9.50mm {8 8B (Pitch): 9.50mm {8 8B (Pitch): 10.00mm j8)8E (Pitch): 10.00mm jB)#E (Pitch): 10.00mm
IANIE (Approval): s IAIE (Approval): s IAIE (Approval): s IAIE (Approval): A @& AN (Approval): s @ IAIE (Approval): A
B [% (Rated voltage): 300V B JE (Rated voltage): 300V B [E (Rated voltage): 300V B JE (Rated voltage): 300V 450V B % (Rated voltage): 300V 450V B JE (Rated voltage): 300V
337 (Rated current): 25A B13% (Rated current): 25A B83% (Rated current): 25A B3% (Rated current): 25A #13% (Rated current): 25A B3% (Rated current): 25A
%1% (Applicable wire): 22-10AWG %1% (Applicable wire): 22-10AWG %1% (Applicable wire): 22-10AWG %1% (Applicable wire): 22-12AWG  2.5mm’ %1% (Applicable wire): 22-12AWG  2.5mm’ %1% (Applicable wire): 22-12AWG
PCB &1Z (PCB hole Dia): [ 1.2x4.2mm PCB EfZ (PCB hole Dia): ®2.1-2.2mm PCB &1Z (PCB hole Dia): ®2.1-2.2mm PCB EfZ (PCB hole Dia): ®2.0mm PCB E1Z (PCB hole Dia): ®2.2mm PCB EfZ (PCB hole Dia): [J1.2x3.6mm
1244 (Screw): M3.5 4242 (Screw): M3.5 1242 (Screw): M3.5 1242 (Screw): M3.5 4244 (Screw): M3.5 4242 (Screw): M3.5
#5 (Part Number) 5 (Part Number) #1S (Part Number) S (Part Number) #5 (Part Number) S (Part Number)
tR# (Poles) S (Part Number) 1R%x (Poles) #S (Part Number) tR% (Poles) #S (Part Number) 1R%L (Poles) A (Part Number) %% (Poles) S (Part Number) 1R%x (Poles) S (Part Number)
02 B950[C|] -04-02P 02 B950 [CI/W-01-02P 02 B950 [C]|W-02-02P 02 B100-02-02P 02 B100-03-02P-XC 02 B100-03-1538-02P
24 B950 [C] -04-24P 20 B950 [CIW-01-20P 20 B950 [C] W-02-20P 12 B100-02-12P 12 B100-03-12P-XC 12 B100-03-1538-12P

8 www.china-tianli.com '% &www.china-tianli.com 9



M=zt BARRIER SERIES

1509001
15014001 @

M N CE A @

H#=={ BARRIER SERIES

1509001
15014001 @

M A CE @

B100(C| -01-0852

B100 [C|-02-0852

B100(C|-03-0852

B601 (C|-11

B601 (C|-12

B601 (C| -31

L=10.00xP+3.50 675 _ A=ID00P-) _ L=10.00xP+3.50 A=10.00x(P-1) Lo10.004P+350 -
6.75_ A=10.00x(P-1) P 6.75_ A<10.00x(P-1) E—— A=10.0x(P-1 p160
= 1 D S 0 N T = T I e
?@@ \ s 10.00 M o= ol T S T 10.00
% ) = % e} 10.00| 822 A= 75 A=10.0x(P-1) =
L=10.00xP+3.50 T L=10.00xP+3.50 T L=10.00xP+3.50 5
10.00 10.00 0o
17.65 e 17.65
| 1765
T ¢ i) G -
Y I a0 v I )
;H—i i.’T 330 wuio u s o0y 450 | 0.80
A B4R (Technical data) # A ¥R (Technical data) A YR (Technical data)
(8] R (Pitch): 10.00mm [8]E (Pitch): 10.00mm [8]8E (Pitch): 10.00mm
IANIE (Approval): A IAIE (Approval): s IAIE (Approval): AV
8% (Rated voltage): 300V 8 £ (Rated voltage): 300V /% (Rated voltage): 300V
837 (Rated current): 20A B3% (Rated current): 20A B37% (Rated current): 20A
%12 (Applicable wire): 22-12AWG %12 (Applicable wire): 22-12AWG %412 (Applicable wire): 22-12AWG
PCB 12 (PCB hole Dia): ®2.2mm PCB E{Z (PCB hole Dia): ~ ®2.2mm PCB 1% (PCB hole Dia): ~ ®1.6mm
1244 (Screw): M3.5 4244 (Screw): M3.5 1244 (Screw): M3.5
#15 (Part Number) #15 (Part Number) #5 (Part Number)
&% (Poles) A5 (Part Number) 1R#x (Poles) S (Part Number) & (Poles) 5 (Part Number)
02 B100[C] -01-0852-02P-XC 02 B100[C] -02-0852-02P-XC 02 B100 [C] -03-0852-02P-XC
30 B100[C] -01-0852-30P-XC 30 B100[C] -02-0852-30P-XC 30 B100[C] -03-0852-30P-XC

a0 A g v ! <
e — = S /e 4 (S
- ;;T b | l
EH 32)3%)3 U e + |3
p—r— L-100a0P-1)+16.00 | 100 | . g
| Lot100p-s14.00 T =
1 T [ % A | 350
\q B B - M 7& S - S E _
] | alea e %%&%ﬁﬁw 57
i 1 R g I
v o g 20410 : &
11100 | {|020x10 [1u0g | |08 02040 |00 11
A=1.00x(P-1) 21.00 A=11.00x(P-1) 2100 A=11.00x(P- ﬂL‘J
A B4R (Technical data) A YR (Technical data) # A ¥R (Technical data)
{8 8B (Pitch): 11.00mm j8]BE (Pitch): 11.00mm {8 8B (Pitch): 11.00mm
AN (Approval): Al A (Approval): A JMIE (Approval): A
B £ (Rated voltage): 600V 8 [£ (Rated voltage): 300V 8 [£ (Rated voltage): 300V
837 (Rated current): 40A #13% (Rated current): 40A B13% (Rated current): 40A
%1% (Applicable wire): 18-8AWG #412 (Applicable wire): 18-8AWG %1% (Applicable wire): 18-8AWG
PCB E 12 (PCB hole Dia): ®2.7mm PCB E 12 (PCB hole Dia): ®2.7mm PCB E {2 (PCB hole Dia): ®2.7mm
1244 (Screw): M4 1244 (Screw): M4 4244 (Screw): M4
#5 (Part Number) #15 (Part Number) #15 (Part Number)
#R#x (Poles) A5 (Part Number) 1R%% (Poles) S (Part Number) &% (Poles) A5 (Part Number)
02 B601[C] -11-02P 02 B601 -12-02P 02 B601[C] -31-02P
16 B601[Cl -11-16P 16 B601[C] -12-16P 16 B601[Cl-31-16P

B100|C/W-01-0852

B100 [C/W-02-0852

L=10.00xP+20.00

15.00

EL 500_AI000:P-1) 027 936

15.00

——f

By N 1
QL% 00]10.00 {i}

1765

1000 ]10.00

B=10.00xP+3.50

' ¢‘350 \m

L=10.00xP+3.50

| 17.65 |

‘ 17.00

L=10.00%P+20.00

15.00_A=10.00xP-1)  92.2 936

%

%;\

.
1765

& Y
Thoojno!

1000]10.00]  $350

B=10.00xP+3.50

19.10

L=10.00xP+3.50

| 17.65 |

17.00

B100 [C/W-03-0852

L=10.00xP+20.00

A=10.00x(P-1

Il
PEERLE

15.00

v
o 100 ‘1000

B=10.00xP+3.50
—

17.65

17.00
19.70

B601 [C/-W11

oF,
e

i

L=11.00x(P-

6350 A 10.95
2320

1690

(15)

B601[C|-W12

2100
o
100, W
g
=4

L=11.00x(P-1)+29.8

[&]

B601 [C/-W31

HT T

©
- RN
[
| Ttk

l
-
E

(2.00)

»H *%0 303800 L aﬁi U g - i>
4.00 450 | 0.80

A IR (Technical data) # AR (Technical data) A IR (Technical data)
[8]EE (Pitch): 10.00mm [B]FE (Pitch): 10.00mm [81%E (Pitch): 10.00mm
IMEE (Approval): A IAE (Approval): A I (Approval): s
B % (Rated voltage): 300V B % (Rated voltage): 300V B % (Rated voltage): 300V
#3% (Rated current): 20A B3% (Rated current): 20A B3 (Rated current): 20A
#:1% (Applicable wire): 22-12AWG £:1% (Applicable wire): 22-12AWG %1% (Applicable wire): 22-12AWG
PCB E1& (PCB hole Dia): ®2.2mm PCB E1& (PCB hole Dia): ®2.2mm PCB E1# (PCB hole Dia):  ®1.6mm
4242 (Screw): M3.5 4242 (Screw): M3.5 1244 (Screw): M3.5
#1S (Part Number) #1S (Part Number) #1S (Part Number)
1R%% (Poles) S (Part Number) 1R%% (Poles) #S (Part Number) tR%L (Poles) S (Part Number)
02 B100[C]W-01-0852-02P-XC 02 B100[CIW-02-0852-02P-XC 02 B100[C]W-03-0852-02P-XC
30 B100[ClW-01-0852-30P-XC 30 B100[CIW-02-0852-30P-XC 30 B100[C]W-03-0852-30P-XC

[ {—: i _ 350 <
HEHEHEHHH] HEHEHEHEHH I
MO.HU ”LU* 20610 ¥ moo mow v 0200 =
A=11.00x(P-1) S0 A=100(P-1)

A IR (Technical data) HAREIR (Technical data) # A IR (Technical data)
/88 (Pitch): 11.00mm [8]EE (Pitch): 11.00mm [B1FE (Pitch): 11.00mm
IAIE (Approval): A IANIE (Approval): s IAIE (Approval): K-\
B JE (Rated voltage): 600V B % (Rated voltage): 300V B JE (Rated voltage): 300V
837 (Rated current): 40A 837 (Rated current): 40A 837 (Rated current): 40A
%1% (Applicable wire): 18-8AWG %1% (Applicable wire): 18-8AWG %1% (Applicable wire): 18-8AWG
PCB E1& (PCB hole Dia): ®2.7mm PCB E1& (PCB hole Dia): ®2.7mm PCB E1& (PCB hole Dia): ®2.7mm
1244 (Screw): M4 4244 (Screw): M4 4244 (Screw): M4
#1S (Part Number) S (Part Number) #1S (Part Number)
1R%% (Poles) A5 (Part Number) %% (Poles) S (Part Number) 1R%% (Poles) #S (Part Number)
02 B601 [C] -W11-02P 02 B601[C| -W12-02P 02 B601[C] -W31-02P
16 B601[Cl-W11-16P 16 B601[Cl -W12-16P 16 B601[Cl-W31-16P

10 www.china-tianli.com %

& www.china-tianli.com

1"



M A CE @

1509001
15014001 @

M A CE A @ !

M=zt BARRIER SERIES Hit=={ BARRIER SERIES SN

B130[C|-01 B130(C|-02 B130(C/-03 T101-W31 T762-01 T762-01-1393

@ -
L=7.62xP+10 L=A+8.62 10.00
. 2 A=6.35¢(P-1) 652
Sn st anan | ] = SIS Ui ISU ENESESES
4 © = d 3 s
i L L J Y | ﬂfé ) '“ - =
| i | LY i | I = !
- = LV, g LR = SR [EENENEN oa
i - s
T sl V=13.0xP43 18 V=300 |9 6| | 5s 53 7 EAE ; Poon o = 431 762 | 0 < 810
V=130xP+3 18 V=130xP+3 632 ‘ I —E'L A=T.62x(P-1) ~
4 o 16240P-1 162 11 oLm0 o -
& e AN = S
2607 . i El : ; e ~
13| 026- L S I
13 _| 026-027 18 | 026-027 8 U=13x(P-1) “33 - Eﬁx LiNe | |l 8 131 A
8 U=13xP-1) 8 U=13xP-1) V=13.0P+3 \ L=A+19.05 11750 I R I S I~/ i
I i >
A B4R (Technical data) # A ¥R (Technical data) A YR (Technical data) A ¥R (Technical data) # A ¥R (Technical data) A YR (Technical data)
j8)BE (Pitch): 13.00mm j8)EE (Pitch): 13.00mm {888 (Pitch): 13.00mm j8)EE (Pitch): 6.35mm j8EE (Pitch): 7.62mm j8)BE (Pitch): 7.62mm
IAIE (Approval): A iNIE (Approval): A TAIE (Approval): oA IAIE (Approval): A IAIE (Approval): Al IAIE (Approval): AV
81 [£ (Rated voltage): 600V 8 /£ (Rated voltage): 600V 8% (Rated voltage): 600V 8 £ (Rated voltage): 300V 8 £ (Rated voltage): 300V 81 [£ (Rated voltage): 300V
83% (Rated current): 40A B13% (Rated current): 40A 837 (Rated current): 40A 813% (Rated current): 13.5A B13% (Rated current): 15A #837% (Rated current): 15A
%12 (Applicable wire): 24-8AWG %12 (Applicable wire): 24-8AWG %412 (Applicable wire): 24-8AWG 12 (Applicable wire): 22-16AWG %412 (Applicable wire): 26-14AWG 12 (Applicable wire): 26-14AWG
PCB E1# (PCB hole Dia): ®2.6-2.7mm PCB E {2 (PCB hole Dia): ®2.6-2.7mm PCB 12 (PCB hole Dia): ®2.6-2.7mm PCB E {2 (PCB hole Dia): ®1.6mm PCB E {2 (PCB hole Dia): ®1.6-1.8mm PCB E1Z (PCB hole Dia): ®1.7mm
1244 (Screw): M4 4244 (Screw): M4 1242 (Screw): M4 4244 (Screw): M2.6 4244 (Screw): M3 1244 (Screw): M3
#S (Part Number) #1S (Part Number) #1S (Part Number) #15 (Part Number) #1S (Part Number) #S (Part Number)
&% (Poles) #S (Part Number) 1R%x (Poles) S (Part Number) #R# (Poles) #S (Part Number) 1R#x (Poles) S (Part Number) % (Poles) #5 (Part Number) &% (Poles) IS (Part Number)
02 B130[C] -01-02P 02 B130[Cl -02-02P 02 B130[C] -03-02P 02 T101-W31-02P-XC 02 T762-01-02P 02 T762-01-1393-02P
14 B130[C] -01-14P 14 B130[Cl -02-14P 14 B130[C] -03-14P 30 T101-W31-30P-XC 24 T762-01-24P 24 T762-01-1393-24P
T101-11 T101-W11 T101-31 T762W-01 T825-01 T950(C]-01
L=76240P+2}+10 L=A+9.25
L=Av )29 .00 340 A=6.35x(P-1) A=(P-1)x8.25 1520 s = H] £
R pNTTEE PR aslesis /s RS
< N = P : ] ul g
e oFEE L 03 [+ weis sl sosgrEes |1
O | —— = g | A L
S 0.80 6.35 i n|mn "TA 1] 9160-170
= BRI ggs 2540 ol bl b | < 6363 o |
363 835 100 | .0 = A 120 I Te2s = ——f— o
A=6.35x(P-1) ‘ IR [ AN | L g
[l bl
Eéhéléeﬂé%g > SR ENE
4%+ = el ] - S e e
RE | : | 3 Laf T wl1Z
3 953 _[633] 100 | 400 | | B = .y i 5 < Q § 1" 540 U=9.50x[P-1) -
1 A=6.35x(P-1) LA 28 Y S /L V=9.50xP+130
- 8 463 825|  PCB IAYOUT
HA YR (Technical data) HA YR (Technical data) HA YR (Technical data) FA YR (Technical data) A SR (Technical data) HAYAR (Technical data)
j8EE (Pitch): 6.35mm j8)8E (Pitch): 6.35mm jE]E (Pitch): 6.35mm j8E (Pitch): 7.62mm j8EE (Pitch): 8.25mm [8]EE (Pitch): 9.50mm
IAIE (Approval): A IAIE (Approval): Al IAIE (Approval): A IAIE (Approval): A AL (Approval): Ml & IAIE (Approval): Al &t
B /% (Rated voltage): 300V B /% (Rated voltage): 300V B /% (Rated voltage): 300V B /% (Rated voltage): 300V 8 & (Rated voltage): 300V 450V B JE (Rated voltage): 300V 450V
337 (Rated current): 13.5A #37% (Rated current): 13.5A #37% (Rated current): 13.5A 337 (Rated current): 15A 837 (Rated current): 20A B8 77 (Rated current): 25A
%12 (Applicable wire): 22-16AWG %12 (Applicable wire): 22-16AWG %12 (Applicable wire): 22-16AWG %12 (Applicable wire): 22-14AWG %12 (Applicable wire): 22-12AWG  1.5mm’ #:42 (Applicable wire): 22-12AWG  2.5mm’
PCB E1& (PCB hole Dia): O 1.6mm PCB E1# (PCB hole Dia): ®1.6mm PCB E1# (PCB hole Dia): O 1.6mm PCB E1& (PCB hole Dia): ®1.6-1.8mm PCB E1Z (PCB hole Dia): ®1.7mm PCB E1Z (PCB hole Dia): ®1.7mm
244 (Screw): M2.6 244 (Screw): M2.6 244 (Screw): M2.6 244 (Screw): M3 244 (Screw): M3 #2244 (Screw): M3.5
5 (Part Number) #1S (Part Number) #1S (Part Number) S (Part Number) #15 (Part Number) #5 (Part Number)
3L (Poles) A2 (Part Number) B3 (Poles) #I2 (Part Number) B3 (Poles) #12 (Part Number) B3 (Poles) #I2 (Part Number) RE (Poles) A= (Part Number) REX (Poles) A5 (Part Number)
02 T101-11-02P 02 T101-W11-02P-XC 02 T101-31-02P-XC 02 T762W-01-02P 02 T825-01-02P 02 T950(C]-01-02P
30 T101-11-30P 30 T101-W11-30P-XC 30 T101-31-30P-XC 24 T762W-01-24P 24 T825-01-24P 15 T950(C|-01-15P

12 www.china-tianli.com '%

& www.china-tianli.com 13



Hi#=={ BARRIER SERIES

1509001
15014001 @

M N CE A @

Hi#=={ BARRIER SERIES

1509001
15014001 @

M A CE @

T950-01-1023

T501-21

T501H-21

B120-01

Y

V2=12xP+22

17

K
Y

e

U 12x(P-1),

V1=12xP+2

y
20

i i

B160-01

S

V2=16xP+28

2’| ]
@

= [T

E%
&5

6,

|
|=={E=]E2
9.5 U=16x(P-1)

V1=16xP+3

20

B210-01

Y

ok

I
M
Hr\H

ISi(&zl

HVH
Tl
[N

V2=21xP+29

N
o1

\

FAENE]

[T
— |

o]
29

55

R

4]

’iﬁg‘ L 950i Y ‘M 590, 10.00_, 92.50 5.9010.00  $2.50
inl || = i 3 \ =
A EE e S T b D
b— | _ g Pl I © ("
- AT Ja T \
120 a L=A+1180 £00 15.00
s40_| | A-950xP-1 A -
L=A+10.80 == s EE
e e S T \ﬂ— s s
9501 @17 AN |2 =]
1 e fi
5.90]_10.00_| H 160 00y 5.90] 10.00 160 100 |
2.40 ’t A=10.00+/P-1) 2 1844] A=110.00(P-1) 640
KA YR (Technical data) A (Technical data) A (Technical data)
j8]BE (Pitch): 9.50mm {818 (Pitch): 10.00mm {818 (Pitch): 10.00mm
A (Approval): A IAIE (Approval): A IAIE (Approval): AV
81 [£ (Rated voltage): 300V /% (Rated voltage): 300V /% (Rated voltage): 300V
837 (Rated current): 25A 837 (Rated current): 30A 837 (Rated current): 30A
%12 (Applicable wire): 22-12AWG %412 (Applicable wire): 22-10AWG %412 (Applicable wire): 22-10AWG
PCB E1Z (PCB hole Dia): ®1.7mm PCB &1Z (PCB hole Dia): ®2.5mm PCB &2 (PCB hole Dia): ®2.5mm
#8244 (Screw): M3.5 244 (Screw): M4 #8244 (Screw): M4
£l (Part Number) #5 (Part Number) #5 (Part Number)
1R (Poles) 5 (Part Number) k% (Poles) 5 (Part Number) 1R%x (Poles) S (Part Number)
02 T950-01-1023-02P 02 T501-21-02P-XC 02 T501H-21-02P-XC
15 T950-01-1023-15P 18 T501-21-18P-XC 18 T501H-21-18P-XC
T501HA-21 T110-02 T110W-02

17.00

L=A+1180

H

=

2

[T

11.00xP+1.

5

T | e
17.00

I

A
Py

1.00xP+1

5

e

1 1 1 L 4 12| _21 28
i B EEED o
} } } } V1=21xP+3
\ T T
AR (Technical data) R ¥R (Technical data) A ¥R (Technical data)
j8]BE (Pitch): 12.00mm [B]EE (Pitch): 16.00mm j8EE (Pitch): 21.00mm
IAIE (Approval): L=\ IAIE (Approval): s INIE (Approval): s
B [E (Rated voltage): 600V B % (Rated voltage): 600V B [E (Rated voltage): 600V
& (Rated current): 30A & (Rated current): 60A B33 (Rated current): 100A
%1% (Applicable wire): 18-10AWG %412 (Applicable wire): 10-3AWG %12 (Applicable wire): 10-2AWG
PCB E{Z (PCB hole Dia): PCB H{Z (PCB hole Dia): PCB E1Z (PCB hole Dia):
4244 (Screw): M4 4244 (Screw): M5 1244 (Screw): M6
#S (Part Number) #}5 (Part Number) #1= (Part Number)
R (Poles) S (Part Number) R (Poles) S (Part Number) ¥ (Poles) EIS (Part Number)
02 B120-01-02P 02 B160-01-02P 02 B210-01-02P
22 B120-01-22P 16 B160-01-16P 14 B210-01-14P
TD201-11 TD201-12 TD201C-11

L=A+13.28

1.62 L4

A=7.62X(P/2-1)

19.50
[‘—’1

L=A+13.28

A=162x(P/2-1)
L4 162 381

180

920

19.50

19.50

19.50

=
=

g S | | Il | z | h
‘\\ ! i L ] i - . 2
I \ \ U \ U IE «H 159w R —y _H 1_50L‘J 100, S S| | [k A S
I 100 1 1004P-1) s 1004fP-1) s il
90 6.40 . ~ ~ I M \ M@J S WHWWW
AJD 00x[P-1) moo_, / 25 1100, 080 100|162
l——_‘%‘ i s 7& . s s20] 180 300 381 | | Ateaderan | | ame
? W M ' 25 Tof =
i 9220 ;31 $2.20 i 5!
A %4 (Technical data) # A H17 (Technical data) AR/ (Technical data)
AR Bi#E (Technical data) A BIE (Technical data) A EIE (Technical data) jB1EE (Pitch): 7.62mm jB1EE (Pitch): 7.62mm j81EE (Pitch): 7.62mm
j8)RE (Pitch): 10.00mm j818E (Pitch): 11.00mm [E1BE (Pitch): 11.00mm INIE (Approval): M IAIE (Approval): A IAIE (Approval): A
IAIE (Approval): UL(Applying) TNIE (Approval): A IAIE (Approval): R\ B [E (Rated voltage): 300V B [E (Rated voltage): 300V B JE (Rated voltage): 300V
B /% (Rated voltage): 300V B[ (Rated voltage): 300V B [E (Rated voltage): 300V B37 (Rated current): 15A B3% (Rated current): 15A H37 (Rated current): 15A
B13% (Rated current): 30A 3% (Rated current): 30A & (Rated current): 30A %1% (Applicable wire): 22-14AWG 212 (Applicable wire): 22-14AWG %1% (Applicable wire): 22-14AWG
#412 (Applicable wire): 22-10AWG %412 (Applicable wire): 22-10AWG %412 (Applicable wire): 22-10AWG PCB EfZ (PCB hole Dia): ~ ®1.6mm PCB EfZ (PCB hole Dia):  [J1.2x3.6mm PCB EfZ (PCB hole Dia): ~ ®1.6mm
PCB E1Z (PCB hole Dia): ®2.5mm PCB H1Z (PCB hole Dia): ®2.2mm PCB E1Z (PCB hole Dia): ®2.2mm 4244 (Screw): M3 4244 (Screw): M3 4242 (Screw): M3
4244 (Screw): M4 1244 (Screw): M3.5 1244 (Screw): M3.5 S (Part Number) S (Part Number) S (Part Number)
#S (Part Number) #2 (Part Number) #1= (Part Number) &% (Poles) 2 (Part Number) #&¥K (Poles) #U2 (Part Number) &% (Poles) -2 (Part Number)
HREK (Poles) BS (Part Number) &K (Poles) A5 (Part Number) &K (Poles) A5 (Part Number) 04 TD201-11-04P-XC 04 TD201-12-04P-XC 04 TD201C-11-04P-XC
07 T501HA-21-07P-XC 02 T110-02-02P 02 T110W-02-02P 06 TD201-11-06P-XC 06 TD201-12-06P-XC 06 TD201C-11-06P-XC
18 T501HA-21-18P-XC 22 T110-02-22P 22 T110W-02-22P 60 TD201-11-60P-XC 60 TD201-12-60P-XC 60 TD201C-11-60P-XC

14 www.china-tianli.com % & www.china-tianli.com 15



M=z BARRIER SERIES

TD201C-12

TD201C-W11

5ot €9 A W CE & @

TD201C-W12

= g =
: g °
= =
o Lpns | € 69 L=A+13.28 6.69
A=762x(P/2-1) [ 6.69 L=A+13.28 6.69 Lk
W |162 381 b.Th
sl B
e S -
I ~
el P N
_ ;i‘i i‘i S TITIuTy St LT T =
sl QM‘ M M@M . AJOEOMP/Z%Q ~ 7300 763 g0l [loso
300 140 - — ~ 381 | [A=762xIP/2-1) 9.20[] 180
H A BE (Technical data) AR (Technical data) HABE (Technical data)
[8]BE (Pitch): 7.62mm jB]BE (Pitch): 7.62mm [8]3E (Pitch): 7.62mm
IAE (Approval): Al A (Approval): AV IMIE (Approval): AV
81 [% (Rated voltage): 300V 8 £ (Rated voltage): 300V 8% (Rated voltage): 300V
B33 (Rated current): 15A B 3% (Rated current): 15A B3 (Rated current): 15A
%12 (Applicable wire): 22-14AWG %1% (Applicable wire): 22-14AWG %1% (Applicable wire): 22 — 14AWG
PCB &1Z (PCB hole Dia):  [1 1.2x3.6mm PCB E{Z (PCB hole Dia): ®1.6mm PCB &1Z (PCB hole Dia): [ 1.2x3.6mm
1244 (Screw): M3 4242 (Screw): M3 1242 (Screw): M3
#5 (Part Number) #5 (Part Number) #1S (Part Number)
1R%% (Poles) S (Part Number) k% (Poles) #S (Part Number) 1R%¢ (Poles) 5 (Part Number)
04 TD201C-12-04P-XC 04 TD201C-W11-04P-XC 04 TD201C-W12-04P-XC
06 TD201C-12-06P-XC 06 TD201C-W11-06P-XC 06 TD201C-W12-06P-XC
60 TD201C-12-60P-XC 60 TD201C-W11-60P-XC 60 TD201C-W12-60P-XC

16 www.china-tianli.

com =

ﬁ www.china-tianli.com 17



RV

MODULAR TERMINAL BLOCKS

#n{Ti%R (HOW TO ORDER):

TB/TBD OO CK-OOP

—

18 www.china-tianli.com %

S P % Poles

¥R, RNEBATERRSE With marking label, Blank: without marking label
MEF, REr AT ETF With cover, Blank: without cover

X 45 Part Number

Rzt MODULAR TERMINAL BLOCKS

TBD10-XXP

6.90

o
o

T

T

4.20
g
I
‘\\
|
Tm

850

L=8.50xP+2.00

6.00

28.00

.
A

A=8.50xP+14.00

13.00
D[4
oL

TBD10-A

24.20

LJ{&WL

8.50

14.50

# A YR (Technical data)

H A B#E (Technical data)

j&)EE (Pitch): 8.50mm j8)8E (Pitch): 8.50mm
IAIE (Approval): & INIE (Approval): @

B [% (Rated voltage): 300V 8 & (Rated voltage): 300V
B37% (Rated current): 10A #37% (Rated current): 10A
%1% (Applicable wire): 1.5mm? #412 (Applicable wire): 1.5mm?
4244 (Screw): M3 1244 (Screw): M3
A{EH R (Housing Material): PC A{AEFF R (Housing Material): PC

#5 (Part Number)

#15 (Part Number)

R (Poles) #S (Part Number) TBD10-A
02 TBD10-02P
1‘2 -|;BD1 0-12P
TBD20-XXP TBD20-A

10.00

16.00

# A ¥i4R (Technical data)

A ¥R (Technical data)

& FE (Pitch): 10.00mm J8)EE (Pitch): 10.00mm
IAIE (Approval): @& AN (Approval): @

B % (Rated voltage): 300V B [E (Rated voltage): 300V
B3% (Rated current): 20A #33% (Rated current): 20A

%1% (Applicable wire): 2.5mm? 412 (Applicable wire): 2.5mm?
4244 (Screw): M3.5 1244 (Screw): M3.5
AR#AF R (Housing Material): PC AtE# R (Housing Material): PC

#1S (Part Number)

#S (Part Number)

1Rk (Poles) #S (Part Number) TBD20-A
02 TBD20-02P
12 TBD20-12P

1509001
15014001 @

TBD10OM

24.20

13.00

TBD20M

M Y C€ @

28.00

19.00

ﬁ www.china-tianli.com 19



HEHR=t MODULAR TERMINAL BLOCKS

1809001
15014001 @

Rzt MODULAR TERMINAL BLOCKS

1509001
15014001

&

M Y C€ @

TBD30-XXP

[ { I
A = 11.80
H o y E o
) * iC & d
=
i g 3
11.80 10.00] |
L=11.8xP+2 17.80
A=L+12
A B4R (Technical data) # A ¥R (Technical data)
j8)BE (Pitch): 11.80mm j8)EE (Pitch): 11.80mm
IAIE (Approval): & iNIE (Approval): )
EE}_ £ (Rated voltage): 300V 8 /£ (Rated voltage): 300V
B33% (Rated current): 30A B3% (Rated current): 30A
#12 (Applicable wire): 4.0mm® %12 (Applicable wire): 4.0mm?®
#8244 (Screw): M3.5 4244 (Screw): M3.5
A{AFF R (Housing Material): PC AR{EF R (Housing Material): PC
#15 (Part Number) #5 (Part Number)
1R (Poles) #S (Part Number) TBD30-A
02 TBD30-02P
12 TBD30-12P
TB10-XXP TB10-M
| 38.00
13.00 8.80
=i y
oke el :
in 8
= o |2 e
12.00 s
26.00 L[=8.8xP12.5 ‘ =
B=8.8xP+10.8 - L
A=8.8xP+16.8 1550
AR (Technical data) # AR (Technical data)
JB)EE (Pitch): 8.80mm j8EE (Pitch): 8.80mm
1)\LE (Approval): A @ TALE (Approval): A @
J£ (Rated voltage): 600V 600V B JE (Rated voltage): 600V 600V
'ﬁuu (Rated current): 15A B3% (Rated current): 15A
412 (Applicable wire): 22-14AWG  1.5mm° %1% (Applicable wire): 22-14AWG  1.5mm?
1244 (Screw): M3 4244 (Screw): M3
&R (Housing Material): PC A{E#4 B (Housing Material): PC

#S (Part Number)

#1S (Part Number)

tR# (Poles) S {Part Number) TB10-M
02 TB10-02P
12 TB10-12P

20 www.china-tianli.com %

TBD30OM TB20-XXP

TB20-M

° ‘ N |
8 : FH
19.00
% 1=10.5XP+25
‘ B=105XP+16 8
A B4R (Technical data) A YR (Technical data)
j&)EE (Pitch): 10.50mm j8)8E (Pitch): 10.50mm
IAE (Approval): Ml @ IAIE (Approval): A &
%}_ [+ (Rated voltage): 600V 600V EEJ_ [% (Rated voltage): 600V 600V
B37 (Rated current): 20A B3% (Rated current): 20A
%412 (Applicable wire): 22-12AWG  4.0mm’ 12 (Applicable wire): 22-12AWG  4.0mm®
#8242 (Screw): M3.5 4244 (Screw): M3.5

A{&# B (Housing Material): PC

ZA4E#1 B (Housing Material): PC

#5 (Part Number)

#15 (Part Number)

TB20-M (Middle housing)

1REL (Poles) #12 (Part Number)

02 TB20-02P

12 TB20-12P
TB10/20/30 End Cover TB30-XXP

TB30-M

13.00 370

45 13.00 3
250 38.00 ] =
ming N
3 =t 1 ]
B8 114 B = = Eﬂf‘_(*
I I=ii 1 - =
q | — ~|
el B =y i - 3
6.50 |o 2100 _| 13.00 N .20 |
26.00 L=T3.004P+250 6,70 13.00 110.20 |
| A=L+16.80 2600 19.70
A IR (Technical data) HAREIR (Technical data)
& FE (Pitch): 13.00mm J8)EE (Pitch): 13.00mm
IAIE (Approval): Al @ TAIE (Approval): A @
B JE (Rated voltage): 600V 600V B % (Rated voltage): 600V 600V
B3% (Rated current): 30A #13% (Rated current): 30A
%1% (Applicable wire): 22-10AWG  6.0mm® 412 (Applicable wire): 22-10AWG  6.0mm’
4244 (Screw): M4 1244 (Screw): M4

A{R# B (Housing Material): PC

A{&# R (Housing Material): PC

#1S (Part Number)

#S (Part Number)

TB30-M (Middle housing)

1REL (Poles) A5 (Part Number)
02 TB30-02P
12 TB30-12P

ﬁ www.china-tianli.com 21



Rz MODULAR TERMINAL BLOCKS wotion € M W CE @ EtR=, MODULAR TERMINAL BLOCKS wsorion €@ M A CE @

TB60-XXP TB60-1120-XXP TB100-XXP TB100-1158-XXP TB150-XXP

1900 1670 4, 1900 51 ] Ao B, 25, % 600 2500 _80p_
i3 = i 0 G
e‘ > P e o{:€% 5 sl= glé - $ \ AT T o — ® EI
B el i 1 24 P -1 3l A S 3 | = hall B ¢3I£ =S ANEET -
iz R Bz & b : " F s MER EE o ) %EJ
.l } LA | | g Y L) U
HE SOt 19 00XP 4800 L=25.00XP+8.00 2250 3 Lol |Lon]
LW 38.00 BoL20.00 B=L+20.00 1=25.00%P+8.00 L-2100XP+8.00
A=B+12.00 A=B+12.00 A=B+ 1200 o Bele2000 e
A=B+12.00 A=Lo3180
H A BE (Technical data) H A B#E (Technical data) AR (Technical data) H A B#E (Technical data) HABE (Technical data)
j8)BE (Pitch): 19.00mm |88 (Pitch): 19.00mm jE)RE (Pitch): 25.00mm j8E (Pitch): 25.00mm jB)3E (Pitch): 27.00mm
1)\LIE (Approval): A @ IALE (Approval): A 1}\1IE (Approval): A 1)\LIE (Approval): A IAIE (Approval): A
J£ (Rated voltage): 600V 600V JE£ (Rated voltage): 600V JE (Rated voltage): 600V JE (Rated voltage): 600V B [E (Rated voltage): 600V
%/m (Rated current): 65A %/;.L (Rated current): 65A %,m (Rated current): 150A %/;.L (Rated current): 150A B3 (Rated current): 230A
%12 (Applicable wire): 18-6AWG 16mm° %12 (Applicable wire): 18-6AWG %412 (Applicable wire): 8-1/0AWG %12 (Applicable wire): 8-1/0AWG %412 (Applicable wire): 8-3/0AWG
1244 (Screw): M6 1244 (Screw): M6 1244 (Screw): M8 4244 (Screw): M8 1242 (Screw): M8
AK{AFFFR (Housing Material): PC AK{AEF4 R (Housing Material): PC A{EH1 R (Housing Material): PC AK{AF R (Housing Material): PC AEH1 R (Housing Material): PC
#= (Part Number) #S (Part Number) #1S (Part Number) #S (Part Number) #IS (Part Number)
&% (Poles) A5 (Part Number) &% (Poles) A5 (Part Number) R (Poles) A5 (Part Number) RE (Poles) A5 (Part Number) 1RE (Poles) A5 (Part Number)
02 TB60-02P 02 TB60-1120-02P 02 TB100-02P 02 TB100-1158-02P 02 TB150-02P
12 TB60-12P 12 TB60-1120-12P 12 TB100-12P 12 TB100-1158-12P 12 TB150-12P
TB80-XXP TB80-1120-XXP TB200-XXP TB300-XXP TB500-XXP

1900 16.70 0 ——
N o Sk LTI
S L . g5 g == [ g Iy el ol Beel 295
AR 5133 & A bl g ek 8 o8 = s e b
NG JISZISZ/A 218215215 ! B =S, @ | gy
A=19.00XP+8.00 A=19.00XP+8.00 2900 T 60.00 |_52.00 T
B=A+20.00 | B=A+20.00 L=
L=B+12.00 | L=B+12.00 A=33xP+38 [ A=B+22
A YR (Technical data) AR YR (Technical data) AR (Technical data) AR ¥IFE (Technical data) #H AR (Technical data)
{888 (Pitch): 19.00mm {818E (Pitch): 19.00mm {8 8B (Pitch): 33.00mm j8]BE Pitch 45.00mm j8)8E (Pitch): 60.00mm
1)\LE (Approval): L\ @0 IAIE (Approval): A\ IAIE (Approval): Al IANIE Approval AV IAIE (Approval): AV
J£ (Rated voltage): 600V 600V B % (Rated voltage): 600V B [E (Rated voltage): 600V B [E Rated Voltage 600V B £ (Rated voltage): 1000V
'ﬁuu (Rated current): 85A B3 (Rated current): 85A BL3% (Rated current): 230A 337 Rated Current 380A 537 (Rated current): 475/620A
%1% (Applicable wire): 18-4AWG 25mm? %1% (Applicable wire): 18—4AWG %412 (Applicable wire): 8-4/0AWG 12 Applicable wire 6-3/0AWG %412 (Applicable wire): 350-250 Kemil
1244 (Screw): M6 4244 (Screw): M6 1242 (Screw): M10 1244 Screw M10 4244 (Screw): M16
AR (Housing Material): PC AtE# R (Housing Material): PC A4 (Housing Material): PC ZAEH# R Housing Material  PC A BT (Housing Material): PC
#S (Part Number) #1S (Part Number) #1S (Part Number) £l5 (Part Number) #1S (Part Number)
B3 (Poles) #2 (Part Number) B2 (Poles) #IE (Part Number) 3 (Poles) #I2 (Part Number) R (Poles) #I2 (Part Number) RE (Poles) A5 (Part Number)
02 TB80-02P 02 TB80-1120-02P 02 TB200-02P 02 TB300-02P 02 TB500-02P
12 TB80-12P 12 TB80-1120-12P 12 TB200-12P 12 TB300-12P 12 TB500-12P

22 www.china-tianli.com % & www.china-tianli.com 23



S3z0 RAIL-MOUNTED TERMINAL BLOCKS wsorion €@ M Y C€ @

ﬁ.m:‘ : TBD10D-XXP TBD10 TBD10E

RAIL-MOUNTED TERMINAL BLOCKS

28.00
= ==k =E ]
F L =
3260 I )
- L=8.50XP+24.00
B
A 4126
A B4R (Technical data) A YR (Technical data)
j&)EE (Pitch): 8.50mm j8)8E (Pitch): 8.50mm
IAIE (Approval): @ TANIE (Approval): @
%}_ £ (Rated voltage): 300V EEJ_ £ (Rated voltage): 300V
B37% (Rated current): 10A B3% (Rated current): 10A
%1% (Applicable wire): 1.5mm? #412 (Applicable wire): 1.5mm?
#2424 (Screw): M3 1244 (Screw): M3
A{EF R (Housing Material): PC A{AEFF R (Housing Material): PC
#5 (Part Number) #5 (Part Number)
#R# (Poles) A5 (Part Number) TBD10
02 TBD10D-02P
12 TBD10D-12P
TBD20D-XXP TBD20 TBD20E

1
L]
I

T
i

g

% m

1829 10.00 s
L=10xP+24
B
(T3B! (HOW TO ORDER): .
TB/TBD OO DCK-OOP HABIE (Technical data) KA HIR (Technical data)
T Bl oo % 1818 (Pitch): 10.00mm %5 (Pitch): 10.00mm
[ Fiin P 2 Poles IAIE (Approval): G IANIE (Approval): &
%, RNERATERRSE With marking label, Blank: Without marking label &8 [F (Rated voltage): 300V B [% (Rated voltage): 300V
WZF, RS :BTZF With cover, Blank: without cover B3% (Rated current): 20A #33% (Rated current): 20A
%412 (Applicable wire): 2.5mm? %412 (Applicable wire): 2.5mm?
S Rail-Mounted 4244 (Screw): M3.5 1244 (Screw): M3.5
X 4= Part Number A 4E# T (Housing Material): PC A{&# R (Housing Material): PC
#1S (Part Number) #S (Part Number)
%% (Poles) FS (Part Number) TBD20
02 TBD20D-02P
12 TBD20D-12P

24 www.china-tianli.com % & www.china-tianli.com 25



Sz RAIL-MOUNTED TERMINAL BLOCKS

5ot €9 A W CE & @

S3z0 RAIL-MOUNTED TERMINAL BLOCKS

oA AN C€ @ CEC‘

TBD30D-XXP

TBD30

8
000 [12.00 =
e ———— 3l
L=12xP+24
B
‘ B |

A B4R (Technical data) # A ¥R (Technical data)
j8)BE (Pitch): 12.00mm j8)EE (Pitch): 12.00mm
IAIE (Approval): @& iNIE (Approval): )
8 JE (Rated voltage): 300V B & (Rated voltage): 300V
83% (Rated current): 30A B13% (Rated current): 30A
#12 (Applicable wire): 4.0mm? %12 (Applicable wire): 4.0mm?
#8244 (Screw): M3.5 4244 (Screw): M3.5
A{AFF R (Housing Material): PC AR{EF R (Housing Material): PC
#15 (Part Number) #5 (Part Number)
1R (Poles) #S (Part Number) TBD30
02 TBD30D-02P
12 TBD30D-12P

26 www.china-tianli.com ‘%

TBD30E

-

41.26
35.00 2.00
—i— o
j=3
S
o

TB10D-XXP

TB10D-M

— 8.80
B —_—y
Fesles =R £
=D oho ~
1 ] 2 o
Eso pm ° N
L=8.8xP+25 QE
B
| x | [
A IR (Technical data) A B4R (Technical data)
{81 gk (Pitch): 8.80mm [8]§E (Pitch): 8.80mm
IAIE (Approval): A &) IANIE (Approval): AN @
B % (Rated voltage): 600V 600V B % (Rated voltage): 600V 600V
B3% (Rated current): 15A % (Rated current): 15A
%1% (Applicable wire): 22-14AWG  1.5mm? 412 (Applicable wire): 22-14AWG  1.5mm?
4244 (Screw): M3 1244 (Screw): M3
A5 (Housing Material): PC AtE# R (Housing Material): PC
#1S (Part Number) S (Part Number)
3 (Poles) A5 (Part Number) TB10D-M
02 TB10D-02P
12 TB10D—12P
TB20D-XXP TB20D-M
10.60
i=in
= SR
o8 Hs=
EERE £
=R I
=B
[ 4
HAEIE (Technical data) H A Bi#E (Technical data)
[81EE (Pitch): 10.50mm [8]EE (Pitch): 10.50mm
IAIE (Approval): A @ NI (Approval): A &
B [E (Rated voltage): 600V 600V B [E (Rated voltage): 600V 600V
#357% (Rated current): 20A 83% (Rated current): 20A
%412 (Applicable wire): 22-12AWG  4.0mm? %412 (Applicable wire): 22-12AWG  4.0mm?
1244 (Screw): M3.5 4244 (Screw): M3.5

A{&# B (Housing Material): PC

A& B (Housing Material): PC

#1S (Part Number)

#1S (Part Number)

R (Poles) #S (Part Number) TB20D-M
02 TB20D-02P
12 TB20D-12P

38.00
34.86

41.27

TB10/20/30D End Cover

32.50

? www.china-tianli.com 27



Sz RAIL-MOUNTED TERMINAL BLOCKS

1809001
15014001

&

s T CE @ c:gjc

Sz RAIL-MO

TED TERMINAL BLOCKS

1509001
15014001 @

M Y C€ @

TB30D-XXP

TB30D-M

e — 13.00
= #§»
LN L — N LM
H 59 S _TH T T
& E® H@ h
777% 1 nggs 9
(3.00] [1020 ‘ﬁ'ﬂik R O
L=13xP+25 UE
B =P i
‘ A = & —H
A B4R (Technical data) # A ¥R (Technical data)
j8)BE (Pitch): 13.00mm j8)EE (Pitch): 13.00mm
iMIE (Approval): A @ IAE (Approval): AV @
8 JE (Rated voltage): 600V 600V B & (Rated voltage): 600V 600V
#13% (Rated current): 30A B13% (Rated current): 30A
12 (Applicable wire): 22-10AWG  6.0mm’ %12 (Applicable wire): 22-10AWG  6.0mm’
244 (Screw): M4 244 (Screw): M4

A& R (Housing Material): PC

A{&#4 5 (Housing Material): PC

#15 (Part Number)

#15 (Part Number)

&% (Poles) #S (Part Number) TB30D-M
02 TB30D-02P
12 TB30D-12P

28 www.china-tianli.com ‘%

TB60D-XXP

TB60-M

S 19.00
- i M ]
— 8
t %
| C19.00xP+800 _|
L=19.00XP+28.00 H
B
A
A IR (Technical data) A IR (Technical data)
[B]EE (Pitch): 19.00mm [B)2E (Pitch): 19.00mm
IAIE (Approval): A & IAIE (Approval): A @&
B % (Rated voltage): 600V 600V B [E (Rated voltage): 600V 600V
B3% (Rated current): 65A B 3% (Rated current): 65A
%1% (Applicable wire): 18-6AWG 16mm? %1% (Applicable wire): 18-6AWG 16mm?
1244 (Screw): M6 4244 (Screw): M6

A{EH#1 T (Housing Material): PC

A{E# B (Housing Material): PC

#1S (Part Number)

#1S (Part Number)

REL (Poles) A (Part Number) TB60-M
02 TB60D-02P
12 TB6OD-12P

TB60D-1120-XXP

19.00 16.70

TB60-1120-M

Jan)
&)

‘ (=19.00XP+8.00

L=19.00XP+28.00
B

A

230

16.70

# A ¥i4R (Technical data)

A ¥R (Technical data)

[EBE (Pitch): 19.00mm jE1BE (Pitch): 19.00mm
IAIE (Approval): A IAIE (Approval): R\

B JE (Rated voltage): 600V B % (Rated voltage): 600V

B3 (Rated current): 65A 837 (Rated current): 65A

%412 (Applicable wire): 18-6AWG %12 (Applicable wire): 18-6AWG
4244 (Screw): M6 1244 (Screw): M6

A{K#1 B (Housing Material): PC

A{&# R (Housing Material): PC

#1S (Part Number)

S (Part Number)

R# (Poles) A5 (Part Number) TB60-1120-M
02 TB60D-1120-02P
12 TB60D—1120-12P

TB60OE-A

38.00

? www.china-tianli.com 29



c““us “ C€ @ CEC

AV AY CE @ CEC

Sz RAIL-MOUNTED TERMINAL BLOCKS wotion € S3z0 RAIL-MOUNTED TERMINAL BLOCKS wsorion €@

TB8OD-XXP TB80-M TB8OE-A TB100D-XXP TB100-M TB1OOE-A

1900 1670 5.00 22.50
= S S 54.00 19.00 4,00 54.00 £ F/ I 400
B o _ 25.00 | _f\ i m i
eH 1 _HSf= = 3 = = B
v i NJ Thos| Tom ] D @ ° 5 el =
T . 3 8 =252 32 g JoOd ]]D 3 3
C-19.00XP+8.00 229 ® ° |c2500xP.8.00 all s
1219.00XP+28.00 4150 H 1=25.00XP+28.00 H{L
8 B
A 4350
A B4R (Technical data) # A ¥R (Technical data) # A ¥1R (Technical data) # A YR (Technical data)
(8] R (Pitch): 19.00mm [8]E (Pitch): 19.00mm [8]E (Pitch): 25.00mm [81%E (Pitch): 25.00mm
IANIE (Approval): AV @& IAIE (Approval): s & IAIE (Approval): s IAIE (Approval): AV
B [E (Rated voltage): 600V 600V B [E (Rated voltage): 600V 600V B [E (Rated voltage): 600V B [E (Rated voltage): 600V
#13% (Rated current): 85A B13% (Rated current): 85A B13% (Rated current): 150A 837 (Rated current): 150A
#12 (Applicable wire): 18-4AWG  25mm’ #12 (Applicable wire): 18-4AWG  25mm° #12 (Applicable wire): 8-1/0AWG #12 (Applicable wire): 8-1/0AWG
1244 (Screw): M6 1244 (Screw): M6 1244 (Screw): M8 1242 (Screw): M8

1K1 R (Housing Material): PC
#%5 (Part Number)

A{&# B (Housing Material): PC
#5 (Part Number)

A{K#1 R (Housing Material): PC
#5 (Part Number)

A& (Housing Material): PC
#15 (Part Number)

1R%% (Poles) 15 (Part Number) TB80-M &% (Poles) #S (Part Number) TB100-M
02 TB80OD-02P 02 TB100D-02P
1’2 '|;BBOD—12P 1‘2 '|;B1OOD—12P
TB80D-1120-XXP TB80-1120-M TB100D-1158-XXP TB100-1158-M
1900, 1670 = 20 23 < 62.00
8 5 < ;‘ 1 W 25.00
B == : s 2 2 e (]

43.50

C=19.00XP+8.00 ‘

L=19.00XP+28.00

D
| =25 00xP+8.00 2549 =
1=25.00XP+28.00 47.00 [® [:] ) ||

B B
A A
AR (Technical data) # AR (Technical data) AR (Technical data) A IR (Technical data)
{8128 (Pitch): 19.00mm [B]FE (Pitch): 19.00mm [8]E (Pitch): 25.00mm [81EE (Pitch): 25.00mm
IAIE (Approval): A IAE (Approval): Al IAIE (Approval): Al SN (Approval): ANy
B % (Rated voltage): 600V B JE (Rated voltage): 600V B % (Rated voltage): 600V B JE (Rated voltage): 600V
537 (Rated current): 85A 837 (Rated current): 85A E53% (Rated current): 150A 3% (Rated current): 150A
%412 (Applicable wire): 18-4AWG %1% (Applicable wire): 18-4AWG %1% (Applicable wire): 8-1/0AWG %1% (Applicable wire): 8-1/0AWG
1244 (Screw): M6 424 (Screw): M6 4244 (Screw): M8 1242 (Screw): M8

AAK#1 B (Housing Material): PC A{&#4 B (Housing Material): PC AAR#4 5 (Housing Material): PC A4 B (Housing Material): PC

#1S PartNumber

#1S (Part Number)

H3 (Poles) A2 (Part Number) TB80-1120-M
02 TB8OD-1120-02P
12 TB8OD-1120—12P

30 www.china-tianli.com %

#1S (Part Number)

#1S (Part Number)

#RE (Poles) A5 (Part Number) TB100-1158-M
02 TB100D-1158-02P
12 TB100D-1158-12P

& www.china-tianli.com 31



Sz RAIL-MOUNTED TERMINAL BLOCKS wotion € A N CE @ & S3z0 RAIL-MOUNTED TERMINAL BLOCKS 1ot € M N CE @ &

TB150D-XXP TB150-M TB150 End Cover TB300D-XXP TB300-M

27.00 45.00

%

T
PR\
00 4 3
90.00 P

li%

| H g = S E — [] § }'Jﬁ @ @1 8
L] Low] S A - ¥ (61.00)_ | ‘ |.4500_| "' 39.00 ‘ 5
[37[05)2)2:': 00 :ﬁ .;I | L=45xP+20 |
| : | F e | : |
| f
A B4R (Technical data) # A ¥R (Technical data) # A YR (Technical data) A YR (Technical data)
j8]BE (Pitch): 27.00mm j8)#8 (Pitch): 27.00mm {8 8B (Pitch): 45.00mm j8]BE (Pitch): 45.00mm
IMIE (Approval): A TALE (Approval): Al A (Approval): Al iAIE (Approval): AV
81 [£ (Rated voltage): 600V 8 £ (Rated voltage): 600V 8 £ (Rated voltage): 600V 8% (Rated voltage): 600V
#83% (Rated current): 230A B13% (Rated current): 230A 837 (Rated current): 380A #13% (Rated current): 380A
212 (Applicable wire): 8-3/0AWG %12 (Applicable wire): 8-3/0AWG %412 (Applicable wire): 6-3/0AWG %12 (Applicable wire): 6-3/0AWG
1244 (Screw): M8 1244 (Screw): M8 1244 (Screw): M10 4224 (Screw): M10
A{AFFFR (Housing Material): PC AR{EFA R (Housing Material): PC A{EH1 R (Housing Material): PC A{AEFF R (Housing Material): PC
£ (Part Number) #1S (Part Number) #1S (Part Number) #S (Part Number)
&% (Poles) #S (Part Number) TB150-M #R#x (Poles) A5 (Part Number) TB300-M
02 TB150D-02P 02 TB300D-02P
12 TB150D-12P 12 TB300D-12P
TB200D TB200-M TB200 End Cover TB500D-XXP TB500-M

82.00 ) 300 32,00 A 60.00 111.00
38.00 33.00 . = ‘ kp@ o ﬁ’ @ - 65,00
] = 8o | H i
WD T | (TD ] o g e
7 I A
6 ~ h : : | : B :
] o : : | 200 L] oo :
L =33xP+26 : ® [] ®) H w | L:BOBxP+23 | I |
AB ! ' I - A ol

AR (Technical data) # AR (Technical data) A IR (Technical data) HAREIR (Technical data)
{8128 (Pitch): 33.00mm [B]EE (Pitch): 33.00mm [81%E (Pitch): 60.00mm [8]EE (Pitch): 60.00mm
IAIE (Approval): A IAE (Approval): Al SN (Approval): A A (Approval): ANy
B [% (Rated voltage): 600V B JE (Rated voltage): 600V B JE (Rated voltage): 1000V B % (Rated voltage): 1000V
337 (Rated current): 230A B13% (Rated current): 230A B3% (Rated current): 620A #13% (Rated current): 620A
%1% (Applicable wire): 8-4/0AWG %1% (Applicable wire): 8-4/0AWG %1% (Applicable wire): 350-250 Kemil %1% (Applicable wire): 350-250 Kemil
1244 (Screw): M10 4244 (Screw): M10 1242 (Screw): M16 4244 (Screw): M16
AAK#1 B (Housing Material): PC A{E44 B (Housing Material): PC A{E#4 B (Housing Material): PC A{K#1 5 (Housing Material): PC
#5 (Part Number) S (Part Number) #S (Part Number) #5 (Part Number)
tR# (Poles) S (Part Number) TB200-M 1R%% (Poles) A5 (Part Number) TB500-M
02 TB200D-02P 02 TB500D-02P
12 TB200D-12P 12 TB500D-12P

32 www.china-tianli.com % & www.china-tianli.com 33



WEHIRTV
MODULAR DUAL ROW

#NfwiEs (HOW TO ORDER):

TBROOCK-OOP
1 L B P #2 Poles
FRoR%, AERATIRRSE With marking label, Blank: without marking label
IHEF, RS HFEETF With cover, Blank: without cover
X 45 Part Number

34 www.china-tianli.com ‘%

WEmER, MODULAR DUAL ROW wsorion €@ M Y C€ @

TBR10-XXP

TBR10-M TBR10 End Cover

7.20 8.80
S 6.30
i NF 30
| g
5 5 8 )
e 3
Il
|=8.8xP+6.3
B=L+7.8 =
A B4R (Technical data) A YR (Technical data)
j&)EE (Pitch): 8.80mm j8)8E (Pitch): 8.80mm
AN (Approval): A IAIE (Approval): AV
B [% (Rated voltage): 600V 8 & (Rated voltage): 600V
B37% (Rated current): 15A #37% (Rated current): 15A
%1% (Applicable wire): 22-14AWG #412 (Applicable wire): 22-14AWG
1242 (Screw): M3 1244 (Screw): M3
A{EH R (Housing Material): PC A{AFF R (Housing Material): PC
#5 (Part Number) #15 (Part Number)
#R#x (Poles) IS (Part Number) TBR10-M
02 TBR10-02P
12 TBR10-12P
TBR20-XXP (developing) TBR20-M (developing) TBR20 End Cover
A=V+20.1 om0
3.10
8
3 8
3
il ‘
6.21 | | U=105xP-1)_|| |3.34
V=105xP+63 =
# A B4R (Technical data) A YR (Technical data)
[EBE (Pitch): 10.50mm {B1BE (Pitch): 10.50mm
IAIE (Approval): M JAIE (Approval): A
B [% (Rated voltage): 600V 8 [E (Rated voltage): 600V
837 (Rated current): 20A #13% (Rated current): 20A
%12 (Applicable wire): 22-12AWG %12 (Applicable wire): 22-12AWG
1244 (Screw): M3.5 1244 (Screw): M3.5
A{kA1R (Housing Material): PC AR (Housing Material): PC
#5 (Part Number) #5 (Part Number)
#R#x (Poles) #IS (Part Number) TBR20-M
02 TBR20-02P
12 TBR20-12P

? www.china-tianli.com 35



WESHIL

RAIL-MOUNTED DUAL ROW

n{ai%E (HOW TO ORDER):

TBROO DCK-LOP

WESH I RAIL-MOUNTED DUAL ROW

TBR10OD-XXP

TBR10D-M

54.00

# A YR (Technical data)

#H A B#E (Technical data)

jgE (Pitch): 8.80mm j8)E (Pitch): 8.80mm
IANE (Approval): AV IAIE (Approval): AV

B [% (Rated voltage): 600V B % (Rated voltage): 600V
837 (Rated current): 15A 8137 (Rated current): 15A
%12 (Applicable wire): 22-14AWG %12 (Applicable wire): 22-14AWG
1242 (Screw): M3 1244 (Screw): M3
A{EH R (Housing Material): PC A{AEFF R (Housing Material): PC
#5 (Part Number) #5 (Part Number)

& (Poles) IS (Part Number) TBR10D-M

02 TBR10D-02P

12 TBR10D-12P

TBR20D-XXP (developing)

_|_{105]
. U=105¢P-1

1_V=105xP+6.3

TBR20D-M (developing)

10.50

54.00

# A ¥4} (Technical data)

A B4R (Technical data)

TT

Al P £ Poles

%, AEMNATIRR% With marking label, Blank: without marking label

M=+, ANEr HIEF With cover, Blank: without cover

S Rail-Mounted

X 4> Part Number

36 www.china-tianli.com %

& FE (Pitch): 10.50mm J8)EE (Pitch): 10.50mm
IAIE (Approval): Al IANIE (Approval): AV

B JE (Rated voltage): 600V B % (Rated voltage): 600V

B3% (Rated current): 20A B13% (Rated current): 20A

%1% (Applicable wire): 22-12AWG %1% (Applicable wire): 22-12AWG
4244 (Screw): M3.5 1244 (Screw): M3.5
A4 (Housing Material): PC AE# R (Housing Material): PC

#1S (Part Number)

S (Part Number)

1Rk (Poles) A5 (Part Number) TBR20D-M
02 TBR20D-02P
12 TBR20D-12P

1ot €9 A W CE & @ 6

TBR10D End Cover

54.00

TBR20D End Cover

54.00

6.30

ﬁ www.china-tianli.com 37



o4 ACCESSORIES FOR MODULAR AND RAIL-MOUNTED SERIES 1sotioor @) A A (€ & @ & Figfts ACCESSORIES FOR MODULAR AND RAIL-MOUNTED SERIES wsorion €@ A A (€ & @ &

TH35-7.5-AL-1M TH35-7.5-ST-1M TBT10 TBT60 TBT100

= e
1000 _ 120 Y ‘
20 ‘/'\ R | ¢ ¢ 2 ) ° ¢ 2 i
SO = = ] ® @ = L3 23
I B A
45.50 10.00 L 45.50 100 ﬁ%ﬁoﬂj 11009
A ¥R (Technical data) # A %4 (Technical data)
#5 (Material): AL 5 (Material): STEEL
K& (Length): 1000mm KE (Length): 1000mm
#15 (Part Number) #15 (Part Number)
TH35-7.5-AL-1M TH35-7.5-ST-1M
TBM TBK I TBC 11 TBDC10 COVER TB100 COVER
32.10 - 1000 - ]-—-[59'30 ! 1.—.[1000
e o O—— 2T
X ’ g / ’
2 <
W ©
N
WA S TBDC20 COVER TB150 COVER
36.00 1000 67.20 1000
; r - r il R -
VR RS
2 g g g
H% BK10 SUEEE (HOW TO ORDER): TBDC30 COVER N TB200 COVER -
== = C 4 35?_10 r——[ 85.50
o a0 ] - - 1000 =020 TB(D)C OO0 - 0000 PR ! = v ' % p
TB60. TB8O, TB100. TB150, TB200 HFAEENE g 1 J Length(mm) V v -
COMMON PARTS FOR TB60. TB80, TB100, ———————————————— X%S Part Number
TB150. TB200
TB(D)C OO0 -00OP TB10/20/30 COVER TB300 COVER
% Poles 37.30 ]———[1000 90.80 1000

Ziﬁgg L X4 Part Number E /\f;. ; L ] «4\’@' % L ]
24.00 > < : 8

[ A TBK60

{)7 é"é{} %gig d H 1000 0.50

E I
20 . > M TB60/80 COVER TB500 COVER -
<] 1000 111.00
TB300, TB500 HFIEENE > N 51.30 — ——
COMMON PARTS FOR TB300, TB500 PO L e W — V %/:1 L 1

38 www.china-tianli.com ‘% é www.china-tianli.com 39



< Tianli X @l

Tianli Electrical Machinery (Ningbo) Co., Ltd

KRB (Tl ) ARAA

Mtk REHGIE TERMESHEERILRRX4=5 138 S
HR4%s: 315327

ERHE:

HiE. 0574-6347-9600,6347-9618

fEH: 0574-6389-7084, 6347-9611

Web: www.china-tianli.com

31D =2 13

Mol ERYITHERX K EEEER AR PARK 9 EE 25C
Hif: +86-755-86129295

fEH: +86-755-86129295

Web: www.china-tianli.com

Tianli Electrical Machinery (Ningbo) Co., Ltd.

ADD: 138, Weisan Rd., Andong Development Zone, Hangzhou BayArea,
Ningbo, Zhejiang, 315327 China

Export Department:

TEL: +86-574-6347-9600, 6389-6436

FAX: +86-574-6389-7084, 6347-9611

Web: www.china-tianli.com

Shenzhen Office

ADD: 25C,9Building,Liantou East Park,
Songgang Street,Baoan District,Shenzhen

TEL:+86-755-86129295

FAX:+86-755-86129295

Web: www.china-tianli.com

EN R B #1: 2020 F£6 B




